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Unit1l

Get Ready

= Key Words
big 2 house & many %2
animals 82  squirrel CI&F hole 74

= Quick Check

animals squirrel hole house

= Key Sentence

Many animals make their homes in a tree.
(E2 S=S0| LIR0| 259 TS X[01R.)

=1 2} st & US| HZSIHR.

Bees make hives in a tree. (252 LIR0| €S x|0i2) d
Birds make nests in a tree. (M&2 LI20| SXIE Xl012) ¢
Squirrels make holes in a tree.

(CIHFIES LIRol e 2tE02) b

Spiders make webs in a tree.

(A0IE2 LISoll Ho|ES 2HE0iR) a

= Quick Check

Spiders make webs in a tree.
(70IE2 LISl HolES 2HENR)

Main Reading
L2 &
t

13

0
r

f

Z Zojoi|2.
S=S0/ LIF0| 2352 2E KoL
=2 LIFol 23S X0,
MSE2 LRl SXIE X|01R.

CHFIS2 LR0l| 1S TS0l
HolS2 U=l AHojEs TE0L.
BR, 22|k Lo HE XL

LIF= ofF 2 Zololl2.

=}
0

Tl

nE &

(T

oF.
[
oF.
|_

® Quick Quiz
0| Zo|X[S0ll= O SES0| 20[LtR?
M, Cihz, &, 7o|(birds, squirrels, bees, and spiders)

Review Activity

= Comprehension CHSE 9T Y2 2o MM,

1. 012 of 43t oloplele.
o L2 0 A0S
2, HeE=2s50|_ o 159 TS Xlofe.
O gy i
3. ME2 LIRo| Ho|E2 HE0R. False
4. LIF= 0 2 HoloR. True

= Sentence 22 2Hdoks YU2 THOE MEHSIMR.

-I.

. Bees make hives in a tree. (EE2 LI20| EEIE X012

N

. Squirrels make holes in a tree.
([CHEFIE2 LIl 7S DHE0R)
8. Atreeis a very big house. (t2E 0 2 ZojoR)

= Wrap-up J2S B0 US2 TS MM,

1. Birds make nests in a tree. (ME2 LIR0| SXIE X012

2. Spiders make webs in a tree.
(7{OIEE LISl HolES PHEoR)

3. Bees make hives in a tree. (HS2 LIS0| EEIS X012

4. Squirrels make holes in a tree.

(CHEFE2 U=l 72 2=01R)



Unit 2

Get Ready

= Key Words

bathroom 24!

living room 744

clean HASIC} bedroom ZA!

mirror 72 kitchen £

= Quick Check

bathroom clean mirror kitchen

= Key Sentence
Mom cleans the bedroom. (Yot= 2IAS FHAGR.)

=1 [} et 2 US| HESMR
Dad cleans the bathroom. (Otiit= 2412 HAs2) ¢
He cleans the floor. (2= HIZE HAs1R) d

She cleans the living room.

(AL
| clean the kitchen. (L= £ %%ABHR.) a

= Quick Check

Dad cleans the bathroom. (OHtl= 2

|

rlIIO
ox
B
§I=l
FO

MASH= Lt

ne
FO
ne
o

FEiojoll2.
REle 2 iR,
&

A2 S HAGHR.
J= EﬂE HISS HolL
O[H| 22| Zo| ML

® Quick Quiz
Zojl ofH S20| Aln JUR? 7li(a dog)

Review Activity

= Comprehension CIS2 T YH2 2o HISIML.

1. 0|42 o it ojopr[ole.
2N 0 24s
2, Qs
O si=s)e o v
3. Ofttl= A2 MASR True
4., o= MHXIE SR, False

® Sentence 22 2APot= U2 THOE MELSIMIR.
1. | clean the kitchen. (L= 242 HAGQ))

2. Jack cleans the living room. (22 7HAIZ HAGHR)
3. Now our house is clean! (0|x] 22| Z!lo] THZEHR!)

O|'
=
kO

= Word HES 24

e
d c
.r l
o) e
o) a
m K i fche.

= Wrap-up 2%2 HOE A1 27| = XS HZsHML.
1. Dad cleans the bathroom. (OHtl= A2 HAsHR))
2. Mom cleans the bedroom. (H0i= ZAS HASHR)

- a She makes the bed. (Z4H= 2I0iE H26HR.)
3. | clean the kitchen. (Li= 2242 HAsHR.)
)

_bO

- d | do the dishes. (Lt= 47|12 3f
4. Jack cleans the living room. (M2 7Alg HAsHR)
- ¢ He mops the floor. (2= tHZ|Z =S HolR)




Get Ready

= Key Words

ride Etct bike XA safety I

helmet 2% knee pads & 230 lights 245, 4&5

= Quick Check
ride helmet bike lights

= Key Sentence
Put on your helmet. (222 A.)

=1 2t Zret & ASHH| AHSINL.

Put on your knee pads. (5 ESME 2&3l.) c
Stop at a red light. (#7t=0 =HZ.) a

Cross at a green light. (2220 214.) b
Follow the traffic lights. (X352 X|7{.) d

= Quick Check

Put on your helmet. (&2 M.)

Main Reading
QFHSHA| EL7|

25 AFHHE ERAL

i 2518 IR A,

[e]

r

oS M,

J3e Ho| H2|E Essh &
25 ESIHE 28,

JNE2 Ho RES ESsf FHCL
NS =N

JNEE HE Qs XA EHCE
7ol =AY,

ZES0| 4.

04, OfttH

ZAGIMIR!

= Quick Quiz

S22 of Xt 2 of QULtR?

Review Activity

= Comprehension CHSE 91 Y32 2o TSR,

M| th(three cars)

1. ojze ofl THat ojo7 o2,
of otxisA Ef| O] oFsaIA| %517

2. OF g/ 9x|opg.
0 x| o 45|

3. #ae Lo| izl =5l %, True

4. 22 50 40| A2 B 7, False

i
fl
A
r

U ElOfE Metstie

—_

= Sentence 22 AMS
1. Let’s ride our bikes today. (2= AFH7{Z Elxt)
2. Put on your knee pads. (8 ESUE 283.)
3. Stop at a red light. (&zH=0l =z

= Word HES 25t

7]
h L]
kn.epa.s
0 e
m
. b i k e
l i g h.s

= Wrap-up 27 U= XS AZ6I0 YH2 TS MM |Q.

1. They keep you safe. (AANS2 LS OFX5IA| X|A FECt)
- ¢ traffic lights (4158)

2. It protects your head. (A%2 49| H2|E =255l ZHCL.)
- b helmet (221)

3. They protect your knees. (AZE2 19| 52 E5aH FELiCt)
- a knee pads (22 25rf)




Unit 4

Get Ready

= Key Words

insects #55  three 3, & part 28
wing 274 feeler 4S0| think Aizksict

= Quick Check

insects wing feeler think

= Key Sentence

A spider has two body parts.
(7Aol= =0| & 2222 o] 0iR.)

=1 2} 2Fst £ 2k AZESIMIL.
An insect has six legs. (252 14 71| ct2[7t i) d
An insect has wings. (252 2747t A0i2) ¢
An insect has three body parts.
(Z52 30| Ml B2o=Z 0] Qo) b
A spider has eight legs. (7{0l= o 712 Ct2|7t l01) a

= Quick Check

An insect has wings. (252 2717} A0i2)

Main Reading

7ol 237127

52 S0/ M B2z o A%
Hol= 20| F R222 =0 A0iL.

TE2 FI7H AL,
Hol= =77t oL,

ZE2 GRS T[Tt UKL,
Hol= o= 7H2) Ch2|7t AL,

Z32 tisobt ole.
7ol ciSopt ol

7017 ZH0j2kn AZtsiLIR?

2. Aninsect has

= Quick Quiz

2Z0| ® 0lg) 2o|LR? 120t2|(twelve insects)

Review Activity

= Comprehension CHSE 91 Y32 2o TSR,

1. 01Z¢2 _ of st olopr|ode.
o 74n| O Ll
2, /ol=&E0| _ HROZ ] loie.
v O Ml
3. 252 20| M BEo= o] QL. True
4. 70jl= #350/0L. False

= Sentence 282 otz U2 THO{E MEISIMIR.
1. Aninsect has wings. (252 2747} /o))
2. A spider has eight legs. (0l 65 742 Ci2|7t loiR)

3. Do you think a spider is an insect?
(7Aoj7t 250[2tT Mztshte?)

= Word HES 2H5IHL.

wi.g

p
s a
Fe.ler It
c i
Br i n«
s

= Wrap-up J2S 22 27 U= 2o S5,
1. Aspiderhas . (Hole ~& 7iXl2 oiR)

two body parts (£ 2222 & 2), eight legs (CI2] 871)
. (@52 ~2 7K1 o)

three body parts (M| 2222 = ), six legs (CI2] 67Y),
wings (7)), feelers (GS0])



Unit5

Get Ready

= Key Words
hobby 0| cook 22[aict story 00|
picture 12| collect Zort key g4
= Quick Check
cook story key picture
= Key Sentence
He likes to cook eggs. (1= 22 22[6k= s ZotEHR.)

=1 2t Zret & ASHH| AHSINL.

She likes to write stories. (IUE 0[0F7| = XS Z0112) d
He likes to draw pictures. (1= 12 J2l= 48 Zoki2) b
He likes to read books. (1= & Sl= S £0kHR) a

| like to collect key rings.

(L= EAl12| o= S 20KHR) ©

= Quick Check

She likes to write stories. (AH= 0[0F7| A= S Z0HHR.)

Main Reading

0{2{ 7IX| F0IE
2= ARIS2 F0|7t A0,
Fol= 2oiA 7 IEE THHCHE L.
Xlol= 226V IE EAR
:,_h CtZE _Q_E|3 Z\

o
O
o
Su
FO

OiLtE BM7IE E74L.

U= 0[0F7| A= HE Z01HL.
gloj2 J217|18 AR,

J= O3 J2l= XS 2060,
L= EOTIE E71Q.

L= E4|02] RoE 2S5 Z0kHR.

22l T2 H0IS JHlm Jole.
SHAIo] ol 2217127

— T A

= Quick Quiz

2Xlot0l= £ J2|1 ULIR? M(a castle)

Review Activity

= Comprehension CHSE 91 Y32 2o TSR,
1. 0|2 of Chat olok7|ilS.
o #nis 0 22

2. Foj= 2ol 2 JHHCEe.
0 ot o 7|

3. X|oj= 2MIE ENHR. False

4. 2= OE FI0IE 71|12 oL, True

= Sentence 22 2ok YU2 THOE MEHSIMR.

1. Anna likes to write stories. (OiLt= 0[0F7| M= S Z01HR.)
2. David enjoys drawing. (Hl0[gl2 12|72 £7{2)

3. | like to collect key rings.

(L= g4ue| RoE AE Z0kRiR)

= Word HES 2H5IHL.

= Wrap-up J2S B U522 TS MAIQ
1. Jimmy likes to cook eggs. (X|ol= 22 22[5l= ZiS Z0HR)

2. David likes to draw pictures.
(dlol2 a8 J2l= Ae £0khR.)

3. |like to collect key rings.
(Lh= ZAlmE| o= 22 Z0kHR.)

4. Anna likes to write stories. (OfLt= 0[0}7| & oflR.)

oll})l




Unit 6

Get Ready

= Key Words
sled Mof, oS EICt snowman =AR  listen ECt
long 7! scary FAR give Frt
® Quick Check
listen sled long snowman

= Key Sentence

Winter is for riding. (7122 Et7|9| A=olofL.)

=1 2t 2ret & ASHH| AHSINL.

Winter is for building. (7122 TH=7(2] A=ol0IR) ¢
£719] AZoloiR) b
Winter is for giving. (7122 F7(2| A=o0l.) d
Winter is for skating. (7122 AHA0|E E}7|9] AHO|0R.) a

Winter is for listening. (7122

= Quick Check

Winter is for building. (7122 2t5719] AZolo2.)

Main Reading
7422| xHo|

22 Ef7|2 AlEoloR.
FElE AU of2HZ HiHE EfR.

*2l= 5IF S HiiE Efe.

ﬂbIIO
rlo
2

u

40 40 X
o
rrorir

722 =719 A=ololl2.
HIO| ZI0|S.
22l= ZMR 00PIE E0L.

22 7719 A=oloL.
FEAOATH AZ0] 0L
FEE TS0 M= He.

=22 OFF XHO|2L01R!

= Quick Quiz

o Qo= LIR7EH a2 QILER? M| IE(three trees)

Review Activity

= Comprehension CHSE 91 Y32 2o TSR,

1.

0|A2 oil cist ojof7 |0l 2.
mR= v 72
fal= 5 5L

o Wiz ere 0492 s
7282 MHE719] AE0|!|L. True

20| Ao, False

= Sentence 22 2ok YU2 THOE MEHSIMR.

. Winter is for listening. (722 £7/2| A=o0[02.)
. We build a snowman. (REl= SAIRS 1HS012)

= Word HES 2HdsiML.

= Wrap-up 22 21 A2 TS

Pobd

_LE

2.

We build a snowman. (R2l= SAIZS 2HE0IR))
We listen to scary stories. (R2l= FA2 0/0l7|2 £01R))
We sled all day long. (R2l= 517 £ U0iS EIR)

We give gifts to friends. (f2l= ZIFS0H MES FR)




Unit7

Get Ready . ® Quick Quiz

0{2120] 7HY Z0t5ks &A= FAAIIR?

0%
iy
£2
mlo

= Key Words

vegetables A4S  broccoli E222|  hair 02|72t
carrot 2 mouth & health 712 Review Activity

= Comprehension CHSE 91 Y32 2o TSR,
® Quick Check

: 1. O|X& ___ ollcistojopr[oi.
hair carrot mouth health : .
: v aas SEEE
2. FAL Al o012
= Key Sentence he=gdlel ol 20t
0% o 712
These tomatoes look like eyes.
3. 0| EOIEE2 TFXE M0 False
(0] ENIESS =X M7(012.) | SOIEES =AiE S92
4. 0| 1= UM ML, True
=11 2} st & US| HESIMR.
These broccoli look fike hair | = Sentence 22 s YVS CloiS MeGiMR,

(0] E2E2IES M7= *“310152) d
These corns look like teeth. (0] 244-= 0[XY M7012) b
This pepper looks like a mouth.

(0l 2% YxE Mziole) a

o
0x
N
=)
FO

1. This carrot looks like a nose. (0] 222 X
2. These broccoli look like hair.
(0] EZZE2|E2 M7 IRXE M7i0R)

3. Vegetables look funny. (RASS MO|QUA| MZi0I.)

This carrot looks like a nose. (0] 222 ZXZ A202) ¢

= Quick Check

This carrot looks like a nose. (0] 22 IXH ML)

Main Reading a
i o E hoa i [
r

MAE EOlsttR?
ofL|e. :
FHAZ o Fofeitte? E heal @Bn
A= 71zl 2012 :
2|7 XO|QUA AZioRl : ® Wrap-up J88 H1 B2 TS MAQ,
2] 0f7| L ZHZ0| loiL " 1. These broccoli look like hair.
0| EDIESR =XE M7, . (0] EZZ2|E2 M7 IEXE M7i0R)
0] E2E2IE2 Ha2|7 12 M7ioe. - 2. These tomatoes look like eyes.
0] A TR MZ0IR, : (0] ENIESS X7 471012
=~ oz A7 O . . . -
0] nF= UxE Y702, . 8. This carrot looks like a nose. (0| 422 TXY 471012

LI= ZHAE O 20| Z0teli2l 4. This pepper looks like a mouth. (0| T5E X2 M7i012)




Unit 8

Get Ready

= Key Words
sea HICt turtle #£0| crawl 7|0{7tct
sand 22{ fish 2117| crab 7

= Quick Check
sand fish turtle crab

= Key Sentence
| see birds flying. (L= AME0| o= XS &iR))

=1 2t Zret & ASHH| AHSINL.
| see turtles crawling. (Li= 780I50| 7I0i7k= R &2 b
| see fish swimming. (L= 217|20| £85t= #S B#1R) a
| see crabs walking sideways.
(L= ASo| Foz 22 ) d

| see clouds moving. (L= 20| 22l0l= H2 ER2) ¢

= Quick Check

| see turtles crawling. (L= 7=0IE0| 7|07t ZE HR))

Main Reading

HECHOllAf

Lt= HiColM B2 2
Lt= HiCtol M B2 2

I

0

gt
= of
gt

0 mjo

ok

HJ|I'I IIJI

N

.I

3

L= M0l Hok=
LIE st== oI

mjo

Lt= 7=0[20] 7|017t= A2 H.
LI 220l A 7101 L.

L= 217|50| 5t XS B,
LIz 2 £0|M £S5l

Li= 7AIS0| E22 2= XS HiR.
Lz goz Zole.

OfoH

= Quick Quiz

277 E 7 HO|LIR? U] 7H(four seashells)

Review Activity

= Comprehension CHSE 91 Y32 2o TSR,

1. 02 _ of = U2 ZS0l T3t 0lop o2,
mlul= o ict
2 U=As0l_ sHe
o Hopre 2 0 2l %
3. Li= HiCtolM B2 AS2 6. True
4. L= E &0 ot False

= Sentence 22 2ok YU2 THOE MEHSIMR.

1. | see fish swimming. (Lte 817|50| £85t= 48 22)
2. | crawl in the sand, too. (Lt= 22H0lA 7101R)
3. | see crabs walking sideways.

(L= 7IS0] Hoz Z= A2 EiR)

= Word HES 2H5IHL.

= Wrap-up 27 U= RS AZ6I0 L2 oIS MMIR.
2)

. b Isee birds flying. (L= ME0| dopks 2

I Mo
ﬁF
N
o

i

©

1

2. c | see turtles crawling. (Lt= 7#20I50] 7|07

8. d | see fish swimming. (Lte 217|50] £l 2 Q)
4

. a | see crabs walking sideways.

(L= AIS0| Ho2 Z= A2 =)



Unit 9

Get Ready

= Key Words
library =A2 town 34, o2 theater =%
watch 2rt park 2¥ pool &&zt

= Quick Check

watch park town pool

= Key Sentence
There is a library in my town. (22| S4loli= =A20] 2012

=1 [} et & US| HZESMNR

There is a theater in my town. (22| S4l0ll= 38| o) d
There is a park in my town. (22| S4ofl= Z20| AN2) a
There is a swimming pool in my town.

(22l s4lol= a0l Aoi2) b

There is a museum in my town.

(Ral SHdl= S| o) ¢

= Quick Check

There is a theater in my town. (22| S4joli= 2%0| AR

Main Reading

fa| Stllol=

22| sHloll= =AE0| A0
L= =AM 2S $0R.
F2| SHloil= FF0| A0,
Li= SEoIM S5 2.

22| SHloil= SHO| A0
L= SHOIM AFHHE ElR.

22| SHoll= 0| AL,
X

L= OHY +EEHoM $ES sl

gulo SHoll= o XS0] ULIR?

® Quick Quiz
0l0|S & Ho| £FH0IM $H5I2 ALIR?
1| H(four children)

Review Activity

= Comprehension CHSS 91 Y2 2o 3SR,

1. 0|2 o St ojop[ole.

022 & o 22| 5y
2, L= __ oM S 2R,

o EAfz mREES,
3. 22| sulol= S&0| JAAL. True
4. L= 2o 32 ahe. False
® Sentence 22 otz Y2 TOIE MEHSIMIR.

1. There is a library in my town. (22| SHjofli= =AZ0] l0i2)

2. There is a swimming pool in my town.
(R2] sHole +F=0| JU0R)

3. | ride my bike in the park. (L= S0IM XIFHE EIR.)
= Word HES 2M5IML.
t o . n
a
1.
®- :
o h

o

.ibrary

= Wrap-up 27 U= RS HZolr Y2 Thoj

N2

rlo

1. | watch movies in the theater.
(L= =& gel= 1) b

2. | swim in the pool. (Lie +G&0lN 232 312) d
3. | read books in the library. (L= TAZ0IA RS 210I2) a

. | ride my bike in the park. (LH= SR0IM AHAZS EIR) €




Get Ready

= Key Words
tools =715 ruler Xt crayons IHEE
knife Z fork 23 cup 4

= Quick Check

tools crayons fork cup

= Key Sentence

| use a ruler to measure.
(L= ZOIE 7| 2IshA RIE AFEEHR.)

=1 2} Lt 2 US| HESIMR.

| use a pencil to write. (L= 47| S6HA LS ARE3HR) ¢

| use crayons to color. (L= MEI57| Qs TS A=) b
| use a knife to cut. (Li= XI27| 2fsHA S ALESHR.) a

| use a cup to drink. (L= OtAl7| $EHM ZE AF83HR) d

= Quick Check

| use a ruler to measure.
(Lh= ZOIE 7| 2fshM XIS ArsHR.)

Main Reading

Lol & =75
L= 0f Stmoli E7S5S ABsHS.

43 ARZI0] LE= ZI0IZ A7 st RIZ ARRHE.
X2 AJZH0| LE= M) YshM HTS ABHS.

0l ARZIOl Lt ME517] SIhM SRS ABHS.
28] Azl L= Xi27] SletM 212 Algafe.

o Alol= L= B2 7SS ARSI,
L= 27| 2leiM 235 AMEsHR.
Lt= ORI | SlaliM ZE AREsHR.

J

oo

A

= Quick Quiz

Ololz RN X211 QULIR? tt2(a carrot)

Review Activity

= Comprehension CHSE 91 Y32 2o TSR,

1.

oIS ol tistoloplole.
v stm =75 0 48t 48]

LEoiY oM =PSS AlgHe.

038 Ul

LHe Z0IZ X7 stAl XIE A3, True
L= x127] s 22182 A2, False

= Sentence 22 2ok YU2 THOE MEHSIMR.

W N =

. | use a knife to cut. (L= Xt27| $J6HA Z

. | use a cup to drink. (LH= OHAI7| YIsHA ZiE ALE3HR.)

. At lunch time, | use many tools, too.

(e A= L= B2 E7E2 MEsiR)

= Word HES 2HSIHL.

= Wrap-up €52 HO{E X0 27 U= X0l AZESHMIL.

-—h

2 O DN

. |l use crayons to color. ¢

(L= AtEIs7| 2lsiA 2282 AFZsliR))

. luse afork to eat. a (Li= H7| 2BHM ZIE ALE3HR)

. luse a pencil to write. d (LIE 27| S6HA HES ALZ5HR)

. luse acup todrink. b (L= OMA7| YsiAl ZE AHESHR.)




Unit11

Get Ready

= Key Words

raise 7|Ct, 7|2Ct  cheese X|=  duck 22|

feather A€ sheep & wool g

= Quick Check

duck sheep feather wool

= Key Sentence

They give us milk. (IE2 2207 2RE L)

=1 2t Zret & ASHH| AHSINL.
They give us cheese. (52 2/0H XIZE H2) b

HZUS Q) a
They give us nice feathers. (152 22lA £22 2€2 32) d

=
They give us cozy wool. (I52 22[0Al ZZe AES ) ¢

r9£

They give us fresh eggs. (A52 22(01A AlM

= Quick Check

They give us fresh eggs. (IE2 R2l0iA| AMS 2 Q)

Main Reading

SHolM

RElE Y 7IR002.
FEE SHIM B2 S22 719
22| Oftith= HASE 7|92,

=2 2|0l L7 X=E HL.

22| 2ol UsES 7I9R

=2
as2 2ollA Adet HEE H

<2l 0|2/n2= YSS 7IHR
S FElofA Z2e BEE H

il SRl =X=} 9|$-JR.
se 22l &

2 S==1 580

fo

fo

23]
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= Quick Quiz

20| Z 7 Ho[LtR? U= Jl(seven eggs)

Review Activity

= Comprehension CHSE 91 Y2 2ol TSR,
1. 012 of st ojopr|ode.
032 o =%

2. o= SN U2 S22
v 71992 0ze

A

3. R2| Olik= HASS 71K, True

4. 22|= TA0|A AotR. False

® Sentence 242 2Aok= U2 THOE MEHSIMIR.

1. Ducks give us nice feathers.
(2252 R2olH 22 AHE HR)
2. My aunt raises sheep. (L9] 0|2/12= Y52 71942

3. Cows give us cheese. (BAE2 22|07 XIZE )

= Word HES 2H6IML.

d u c Kk w
S o
e e ak s - e r o)
e l
c h . e s e
P
= Wrap-up 27 U= AS A5l L2 HOE MM,

1. ¢ Ducks give us nice feathers.
(22|52 2ol 22 WS H)

2. b Cows give us milk and cheese.

(HAS2 22|07 2324 X=E FR)
3. d Sheep give us cozy wool.

(YE2 2207 =25t UHE HR)
4. a Hens give us fresh eggs.

(UESS 2|0l AMSHEHZES F Q)



Get Ready

= Key Words
hear Ect ear 7 smell A 2t
finger £712t taste SH=Ct sweet 2=st
= Quick Check
ear smell taste finger

= Key Sentence
| see everything with my eyes. (L= =92 2ZE A2 92.)

= 2t Zret & ASHH| AHSINL.
| hear everything with my ears. (Lt= A2 ZE A2 E02) a

| smell everything with my nose.
(Lie 322 2E 28 dM Zote) ¢

| touch everything with my fingers.
(L= &712e2 BE 22 2Ne) d

| taste everything with my tongue.
(LU=s2 2E XS 2E=R) b

= Quick Check

| taste everything with my tongue.
(L= o2 2= X2 e
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L= &yj2loz OE 212
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Li= 5i2 2E 2iS L=,
L= 22| Hote] 2Z3t #0|2E AElR.

® Quick Quiz
Ao|=2 2ol ofE ko] QJULtR?

Review Activity

= Comprehension CE2E i1 222 Ao X|35tMIR.

1. O|R2 T 7K

©7|(a strawberry)

O et oloF7 ol

2zt 0 &7}t
2. L= 2/0Z PE LS HIR
0 AE) v =S)
3. LI= Q2| HEM0| K= 212 S0iR True
4. L= =02 IE ZIS HM Zote False

® Sentence 2YS AWSI= LU2 TS MESINL.
. | taste everything with my tongue.
(Li= 5l2 2E 22 oiEie)
2. | touch everything with my fingers.
(L= &71302 BE 218 PR

-—h

3. | smell my mom baking bread.
(L= 22| 2ot E= HAME ZolR)

= Word HES 2A45IHL.

Brnei 1 [F
w

e n
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i

= Wrap-up J2S H11 AT2 TS VA2,
1. | touch everything with my fingers.

(L= a7f2toz OE 42 TIMR)
2. | see everything with my eyes. (L= =2& ZE A& H2)
. | hear everything with my ears. (LI= 72 2ZE %8 E0{2)
4. | smell everything with my nose.

(L= T2 2E S EM 2oi)
5. | taste everything with my tongue. (Lt= 32 2E %2 REl2)

(&)




®e &6 6666 6 6 6 6 6 6 6 6 06 6 00
MEMO




®e &6 6666 6 6 6 6 6 6 6 6 06 6 00
MEMO




®e &6 6666 6 6 6 6 6 6 6 6 06 6 00
MEMO




